LENSEIGNEMENT 'R IMAIRI, 125

PREMIERS ELEMENTS DE GEOMIET RIS, PRATIOULL

- Un homme qui marche i raison de 4 milles a I'beure met 3 nunutes
a faire le tour dun Jardm carré. Quelle est Iy diagonale du jardin

Solution: (4 -~ 6o) 3 '/ o de mille le périmeétre dn Jardim.

/o de mille ' u de 5280 picds 1050 pieds.

1056 <-4 204, le coté du carrd,

204* OGOGO,

Golgh w 2 129302,

L racine carrde de £39392 = 373 preds.  Rép.

2. L'hypoténuse d'un triangle rectangele ost de 55 pieds et un des denx

aatres cotés est égal aux 3 de antre : quels sont les autres eotés

Solution : Soi 4 le plus grand des antres cotes, alors 3 e plus petit,

(4x)* - (31)2 ECE
16.4° L gat 3025,
253" = soec
re 121
1 11
E- 1 X 3 33.  Rép.

4. It X g 44. Rép.

LANGUE ANGLAISE
Composition and Dictation
HONESTY rEWARDED
Part L—"Tue comprains

A farmer who was one of Lord Fitzwilliam's tenants called on him one
day to complain of the damage done to his young wheat by the horses, when-
ever his lordship’s hounds met in a certain field near Coombe Wood, He said
the ground had been so badly cut up in places that he could hardly expect
o get a crop at all. Lord Fitzwilliam said he knew that a good deal of
damage had been done, for which he was very sorry s and asked how much
money he thought would cover his loss.  The farmer said he thought fift
pounds would hardly be too much,  His lordship paid the money: and the
farmer thanked him and went away.

PART TT.—-THE HONEST FARMER.

When harvest time came, however. the farmer found the trampled corn
had grown and was even stronger and richer than the rest of the crop.

He went again to Lord Fitzwilliam, “ My Lord. ™ said he, “ some time
ago T called on vou to complain abour my wheat in the field. near Coombe




